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Vi Semester B.Com. Examination, September/October 2021
(CBCS - (F+R) - 2017 - 18 and Onwards)

COMMERCE
Paper — 6.5 : Business Taxation (Elective Paper — 1))

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written either in English or in Kannada.
SECTION - A
QN — R

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)

SRR TR DT SUT-BINT YUZ0R. B T- BIR AT €208MR.

1. a) What is customs duty ?

ST BB NOTTEIO ?
b) Define the term ‘Customs Port'.
TR 0TI 0L BRI WIS W3ONW0.
c¢) What is meant by advance payment of tax ?
300RE 301 TR NOTTER0 ?
d) What do you mean by Partnership Deed ?
TOVOTHOS [T, 0TVER ?
e) Mention any two advantages of LLP.
2,62728 BRBMOF TOOTOFOD CIRTYTIOTTR 0B IRBRHONTI) SV,
f) What is a domestic company ?
Be503) BoT 0TIV 7
g) Give the meaning of Additional Depreciation.
ﬁziawd@ RITHOD T T, VRO
SECTION -B
TR — W

Answer any three questions. Each question carries six marks. (3x6=18)

AR BT FINOT HZOR.ZS Tt e 0N,

o A machinery is imported by airin 2021 .CIF of the machinery is 3000 UK pound.
Frieght is 1,200 UK pound, Insurance cost 200 UK pound. Applicable rate of
BCD is 10%, SWS is 10% on BCD and IGST is 18% .Exchange rate per UK
pound is as follows :

RBI floor rate =X 102.55.

Inter-bank closing rate =¥ 102.80.

Rate notified by CBEC =% 103.50

Rate at which bank realised the payment =X 103.75.

Compute the customs value and customs duty payable.

2,083 0308332, 202109; TOOINRRNF T BT STOTD BRRBRY . eo3g CIF
o 3000 DK SRomdrganc, mres 231,200 UK omd, 2ab e, 200 UK
TP OBNTNT. SRR BT e BwY 53R RI08 3¢ 10,7023 FR,Ed éz:blpa
o, B¢ 10% s Rosc e oy IGST J¢ 180 SR, c0mbgc

Sed D0 B3 20030 UK Toow R 83 $980r808302T3.

LTTVEEOD DWW F m?sos"d oo o = de 102.55.

P.T.O. |
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CBEC o3 SORRUWAT 33 = 3r 103.50

0T R8T BT = OR 103.75

SO QESTNECT Cd08R,RITET esed TR, B2 o030 RO, BOTERB0:

_ The following are the estimated incomes of %hri Prahlad for the ALY 2020-21:
1) Taxable income from house property Z 2,50,000.

2) Taxable income from Business Z 7,50,000.

3) Taxable income from other sources ¥ 80,000.

Compute the advance payment tax. -

3¢ BT 3=3 2020— 21 &¢ 38 HooFOme IR, eoomRwd SR 3onod

e3THO3NE0 B4 2380B0S.

1) RoPoDd A é\_%o‘ébod 23073 E5TR030 TR 2 50,000.
2) dgsdmdtﬁocﬁ 2300 &5TE30 TR 7,50,000.

3) 30 RONYOT 23003 E3T030 TR 80,000.

REAIET BN 5T 030 BOROIE), 30TEROVD.

~ Anu ,Manu and Sonu aré partners of a firm with equal shares.The profit and
loss account for the year ended 31-03-2020 shows a net profit of X 1,50,000
ofter debiting the following as per deed.

a) Salary to AnuX 30,000 and Manu X 22.500.

b) Bonus 10 sonu ¥ 22,500.

c) Interest on Capital to Anu ¥ 3,000 (in excess of the speciﬁed limit)
d) X 30,000 paid 10 the rent of the business premises.

e) Commission of T 7,500 was given to sonu.

Compute the book profits of the firm assuming all the partners are working
partners.

5, RORO T 2563900 TLIROT RoRoD 530 TLOTITTR AGZRT. DEF O
31-03-2020 ZoB> %R, S508030 T8 BB B0 3500 aﬁzﬁwﬁeéabi
ZORESRT 3083 B c;é ey X1 50,000 QOTO 3Re0RNET.
a) ©TION 20009 5.30,000 NS SRT=OR TR 22.500.
b) AREICRON Bpeaw 8@ 22,500
c) s RTHON 20RTET 30eOF W&, (‘@ﬁ@é S8 Q0E0T) 3£.3,000.
" d) mﬁmdd 5338903 LRBN TR 30,000 TORSNT.
e) gn. 7,500 R BROLRITY AR eRoT REBRNT.
QR THOOTTTO @oﬁor%s‘&oﬂm THEOTITTI HOT zp:nm%mocéa,mwmaé

2]

Rodon BB PRI JOTEROWD.
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5. State whetherthe following are admissible or inadmissible under the provisions
of Income Tax Act.
i) Loss due to embezzlement by an employee X 5,000.
ii) Interest on loan taken to pay income tax X 15,000.
iii) Annual listing fees paid towards stock exchange by a company 7 12,000.
iv) Legal expenses to defend an existing title to a capital asset  8,000.
v) Provision for doubtful debts ¥ 13,000.
vi) Loss on sale of capital assets T 4,000.
s o SoreD F20330D B0 B STHTHOT WIS STIOITR, 20T R0ITIN B

ii) STRCD éer;wa%a 21303 SRTIBROB 2T 3O uéoﬁa =8 8».15,000.
i ek SRR, o HeDTE TR TEAE TR YT

iv) WoBRYT 53,030 TR ﬁéﬂ&dd%ﬂm RIAT TR F > 8 8,000.
v) e05R3 :ﬂzrf 283> RoONIN 25RO CREOTT B o» 13,000
) meded Byob SROE0eT 83 =% G 4,000.

6. SMS Auto Ltd. is engaged in manufacti’ire of Auto spare parts and submits the
following information relating 10 acquisition of assets during P.Y. 2019-20:

Block | Block Il Block lli
P&M P&M P&M

Rate of depreciation 15% 20% 15%
WDV on 1-4-2019 10,00,000 16,00,000 8,00,000
Additions to plants made during
the P.Y. 2019-20 25,00,000 14,00,000 12,00,000
Date of acquisition and
put to use June 2019 June 2019 Jan. 2020
Sale of plant during the
P.Y.2019-20 8,00,000 10,75,000 6,50,000

Compute the permissible amount of normal depreciation and additional

depreciation for the A.Y. 2020 — 21.

.0 sieed, estiRe WA GRNNY BB RSBV 3RBNR, 20D RRE

5019 — 208, Rot0QNTS BATY 0B TR 51 898003 BT
- 1

mﬁa‘ mmae -1 w305¢ = Il
P&M P&m P&mM
2gooh T 15% 20% 15%
e 2030 B3 1-4-2019 10,00,000  16,00,000 8,00,000

ooy S 2019-20 5O, BRRTN
B @ SREOT 03083, TBTEAMD 25,00,000 14,00,000  12,00,000
060 T YUTARE N T0,00%R3

D08 s 2019 e 2019 =330 2020
3 o= 2019 — 20 O W0
IRBESRT 000ER eRBTEANE 8,00,000 10,75,000 6,50,000

S e Sl 2020 — 218 RoroQAT PO As3ge 23y TR0 RRIFOPR
F0@LEC0.
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geECTION-C
(3x14=42)

nd. Bill of entry
10-04-2021.

e TR oY IR
20603 Foeas B
ORI %Dejas'aﬁaod ookl
3r. 10,000
e 10

oy e5TIT2 303
20
e 10
Se. 18

£ 23
B o0en 09)
SRSy 30N DRI
ont 0-4-2021 3

o AR A g
25-03-‘2.021 3

782.20 78210

782.35
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g. Fromhe following details of incomes, compute TDS amount for each transaction :
a) Dividends from the listed company 1 ,00,000.

d) compensation received for acquisition of land X 5,00,000.

e) Withdrawal from employee provident fund without furnishing PAN
7 50,000.

f) Rent paid on puilding X 80,000 p.M.

+)) Advanced received for sale of puilding X 20,00,000 (sale value

= $E0T =30Reos TDS é@éﬁ&i@é S2TotdN 20730
a) -,imcmcmé SoROWOT 2R3 003 BR- 1,00,000.

d) BR = WA 20 PO 308 CR. 5,00,000.

- .d. D

&) PAN 23 38R 900 o, cnod T B 3. 50,000.

- =P

f) su@ BN RS B 3onen SR 80,000.
g) 388 SRooWE, BR3 ROONE 6o SR 20,00,000.
SRootiB 9°% 3R. 50,00,000?.
9. X,Yand 7 are partners sharing profits and losses equallyina firm. During the year
201920, the firm incurs 2 net loss of 15,00,000 after deducting the following -
a) Commission to XX 1,00,000.
p) Bonus toYand Z 7 2,00,000 each.
c) Salary to X, Y and 7% 4,00,000 each.
d) Donation 10 PM’s National Relief Fund 7 2,00,000.

) Office rent% 2 50,000.
h) Depreciation on assets < 10,00,000 (A\Iowable depreciation as per IT Law
is¥ 12,00,000).
i) Interest on Capital calculated at 20%.
Xx-31 60,000
y -1 140,000
-1 80,000
The Profit and LOSS Account also included the following
) Long-term capital gain X 2 25,000.
il) Short-term capital gain X 1,75,000.
jii) Export earnings X 9,50,000.
Compute the pook profit of the firm and its taxable income for the
ALY. 2020 - 21.



